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i, T T AT, 31 e Ry % SER i ere Rifed & | s aveRet U @18 37K ga e o
e Sre feEdn & | e & g dehd 8 2

T W o |
Seema, a new mother, is concerned about her newborn’s feeding. The baby is crying often and
seems fussy after nursing. What might be the issue ?

Incorrect breastfeeding latch.

T ) &L R A 2 7
(utier)

What does maternal mortality rate measure ?
(Full Mark)

A HTE 1 STl g A % I TR STl o TET ¢, 3 Ietd) sfgfely sl gt @) wr b T
wfte o waTfersh =i og Tar 2 | feian o & wehdl & 2
AratereTer e (f2m)

A 4-week-old baby is consistently vomiting after feedings, and the vomit seems to be
projectile. The baby is not gaining weight as expected. What might be the concern ?

Gastroesophageal Reflux (GER)

8 WA 3 T T I A, ST % (T Wb ol wiell) € ¢ ] 3T o= 1 wivent ua § i o
T wfeTs 81 W@ R | Wl Ut Frer R B wehan 8 7

SifpatTsied
An 8-month-old baby has developed a harsh, barking cough, and baby is having difficulty in
breathing, especially at night. What could be the likely diagnosis ?

Bronchiolitis

e erafdl T 99 ¥ arferes g & mfeor i S e R e e @ e | afgarn s
wiftres et wrsh Frafirg 2, 3R 3 Suh! smem et 3 o srgifda g e @ | Fefafea |
B g T o 81 gahdi 2 ?

HH YT G
A couple has been trying to conceive for over a year without success. The woman's menstrual
cycle is regular, and they have been having unprotected intercourse during her fertile window.

What could be the possible issue from the following ?
Low sperm count
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6. v miadt ufgen # FEEE de U €8, TRt ITH 3T AT U WA i 3gYE Bl & | 98
TR % WS HHIE W & | SEeh! @1 B T &I 2
STeTfER e

A pregnant woman experiences sudden sharp abdominal pain, dizziness, and vaginal bleeding.

She is in her 6™ week of pregnancy. What might be happening to her ?

Ectopic pregnancy

7. us nfad afven F T, gl o 9 # 3 go o Wt 2 | 98 @ e of g |
e ot o) Rrehrard et B | wonrfera T e €1 ot 2 2

eS|

A pregnant woman notices sudden swelling in her face, hands and feet. She also complains of
persistent headaches and vision changes. What could be the potential concern ?

Pre-eclampsia

8. s miad ufgen i ded ferd % Am A @ <¢ WEa wheTa @ 3gEd BiaT § | WhET o6l
GTTTerel SHIoT <R BY el B 2

witter shfern (T @)

A pregnant woman experiences painless vaginal bleeding during her third trimester. What
could be the potential cause of the bleeding ?
Placenta previa

9. Q?sﬁmia?ﬁn%awmﬁﬂﬁmﬁwﬁaﬁa,a&qﬁﬁw%ma-maﬂa%ﬁaﬁ%@ﬁ
@ iR Afcaes gurE 1 3wE S ]| 35 1 81 @l a2
T g e

A pregnant woman in her 32™ week suddenly experiences regular, painful contractions, along
with lower back pain and pelvic pressure. What might be happening to her ?

Pre-term labour

10.  we miacd wfer, s veeh T 8, srmes e Uaa it Afr 8 it wherd Hegy H 8 |
wfire <61 A & e S wered AT B T R | ST R 8l @I E ?
RELIGH

A pregnant woman, in her first trimester, notices sudden abdominal cramps and heavy vaginal
bleeding. She passes tissue-like material from her vagina. What might be happening to her ?

Miscarriage

.11. eh et Tl i TR, TR Heel 3 S 1 S giar 7, e Frefefietn 3 as s
29 o B | 98 Tor TRl <1 wree s gt 2
BRI R Afaew

A pregnant woman experiences severe, persistent nausea and vomiting, leading to dehydration
and weight loss. What could be the condition she’s facing ?

Hyperemesis gravidarum
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12. e moiad) ufden Frafta deperil o1 Srga T & S Yae 3RS &id S @ e | 98 < 3
e it & | a8 58 |l e <6 fopm =or v 2 7
TR T ; T T
A pregnant woman is experiencing regular contractions that are becoming stronger and more
frequent. She's dilated to about 3 centimetres. During which stage of labour is she currently in
9
First stage : Latent phase
13.  ue mifadt Afgen wia: frewiia 2, 30 36 =3 w1 RR et § 3aUT R | S o SN o8
afere w9 & S W R | 98 S o R A R
TE
A pregnant woman is fully dilated, and her baby's head has descended into the birth canal.
She's actively pushing during contractions. In which stage of labour is she ?
Second stage
14, wowst o= 3 2, e i e 8, el & o s e 2, 3 - v e &
foTu e % A el wfre €9 3 ST ] | quwsierdr oy TR Nt 1 WeE 11 ?
Terrrsff Zraror :
During a counselling session, the counsellor nods, maintains eye contact, and occasionally
paraphrases the client’s statements to show understanding. Which communication skill is the
counsellor demonstrating ?
Reflective listening
15, ek TS STO SEATS TS S SR A §Td G 7 fEgrehar 8 | ursfer ve gika TR TR-Fvirere
TTATEROT ST 38 7O 1371 ohl 52k i o fore Sieenfea et & | wmsier fere deiies <
ST H G2 ?
wETgfa
A patient is hesitant to talk about their traumatic experience. The counsellor encourages them
to express their feelings by creating a safe and non-judgmental environment. What technique is
the counsellor using ?
Empathy
16. U Fratfea IR @1 GaR wEEnst 3R SRS el 1 e S ue @ 81 3 R

TRl s SEat s S o s W e w & forg o wed @) | s b
TfieR STTeEehdl 1 8 ?

T E T ST ST TS 1 & B
A married couple is facing communication issues and frequent conflicts. They seek counselling

to improve their relationship dynamics and resolve their problems. What is the primary need
for this counselling ?

To improve communication and resolve conflicts.
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17. et (A) : wumel a1 e firg wreed (TEe ) Hanatl i g b ST g |
BT (R) : T SRR I AR i mferen, Tee 3 s s o S S T 3
oo o o g Foofr o) 3 foae SeRrd), wgrrar 3 ariee em e g |

(A) 3T (R) Tl Tlt § 3 (R, (A) 1 6 BTN E |

Assertion (A) : Counselling is an integral component of Maternal and Child Health (MCH)
services.
Reason (R) : Counselling provides individuals and families with information, support, and
guidance to make informed decisions about their health and well-being during pregnancy,

childbirth and early childhood.
Both (A) and (R) are correct and (R) is the correct explanation of (A).

18. T oS TRl <Rl U1 o6 Tershr 1 wErerel] 3 fory a1 31rET ¥ whifereh ufte § v @ uerelf s
r1firet et < T € St @ | Frefafaa 1 9 o an wr verd s ot s sstEa @ 2
YRAGR G (SI¥ UTereh, shiet)

A pregnant woman is advised to include foods high in folic acid in her diet to support fetal
development. Which of the following foods is a good source of folic acid 7

Leafy greens (e.g. spinach, kale)
19. weh Mt HfeeT ITRET) & IR TATH SN Ul et Tt et @ | FrefaRaa 0 8w

3T ToTT WA T 3= Eid 8l 9shal & ?
st (I & e g, 9m)

A pregnant woman is vegetarian and concerned about getting enough protein. Which of the

following can be a good source of protein for her ?
Legumes (e.g. lentils, beans)

20.  TWIEET T EG! U MGl Higer o ao Jited gidr 8 | gl e o QR feRd st SieT
3Ees fore T AT ST 8 2
20-25 9138
A pregnant woman is of average weight before pregnancy. How much weight gain is
considered healthy for her during the entire pregnancy ?
20-25 pounds
21.  Frefelaa 38 i o1 feei sraere & for sfan wres 18l @ 2

Which of the following is NOT a risk factor for adolescent depression ?
High academic achievement

22.  FIRIH (A) - wHHTTE (MCH) 3 woHsl 4@ &0 & it wmees et fast =i g st ®
Higd TR |
FHROT (R) : wflee (MCH) o wtmst # Uk wmm gfEepion Smfirer & Si 1 shefel e wmee sfesh
AT U firg e ATEHTCHs, GTHTTR SR AT Taegsil W off ferem = & |
(A) e @ 3 (R) Wl 8 |

Assertion (A) : Counselling in MCH primarily focuses on addressing physical health concerns.

Reason (R) : Counselling in MCH encompasses a holistic approach that considers not only
physical health but also emotional, social, and psychological aspects of maternal and child
well-being.

(A) is false and (R) is true.

D21_Set-2 4



23, aTel Farehedt SdVE) § i Bl dlell Teb T 4 Hied o sl o1 <oT 3 Svell il @ S 3W o ferg
Fard-2SD T i & | FEeht HIfed FROTE :
st gparsoT
A nurse working in a paediatric OPD takes weight and height of 4 years old child and finds the
height for age less than-2SD. The likely cause is :
Acute malnutrition
24. ST ToIehlE 2 (e =0T A ool T QTR Terehrd et €, Forers T 37T =ier S At (Siteh) shigredt
o1 ferepr ot wnifireT 2 2
T
Which stage of child development is characterized by rapid physical growth, including the
development of motor skills such as crawling and walking ?
Infancy
25. TS (5ehTd % 168 =01 o SIUH S=l TR OT Sreerere fored i 3T areR fomior afed 7o e
il i ferenfifd =T YE L 8 ? :
[EIGSS
During which stage of child development do children typically begin to develop their language
skills, including vocabulary expansion and sentence formation ?
Toddlerhood :
26. o 1 <hIeh T % GSTCH Teieh el i TR JTfereh IMTfeld i & ?
oy
Which factor is most likely to affect a child's cognitive development ?
Nutrition
27, TShuITTErE % S HIEHTeHe Teehrd T Fehe ShITeh oh1 ETHT=T HTE 98l @ ?
riariies fed
During adolescence, which factor is a common influence on emotional development ?
Family relationships
28, wTel ThTE % hd o0 3 Yg= ol Wi BT 2, TR e —~uge I g B fereft o v %
ELE R R R R
Which stage of child development is characterized by the exploration of identity, including
questions about self-identity and one’s place in society ?
~ Adolescence
20, YRR T % =W o O, U T2l i ST Hra13 bl Tl e 3R A % wr sd-
e 0 2 ey Ffaiad § @ fred sga ywfaa Sd g 2
SR HH
During the early childhood stage, a child’s ability to regulate their emotions and interact with
peers is greatly influenced by which of the following ?
Genetic factors
30, Treiteiiad 3§ & B T e STe eehrg G G eRofi YT 6l 3G 8 ?

e i =t e =1 &
Which of the following factors is an example of environmental influence on child
development ?

Parental education level
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3.

e 1T 1 T 5 UIHITSeh [T G Ge 311k Hehiicieh T qgH <hl G 8 ?
IR 3R T q@HTashdl

Which factor is most likely to have a positive impact on a child’s social development ?
Consistent and supportive caregivers

32.

1T TSR S FehE =0T o AR o) ST UL HE e st ST JRRIT < SR Jeareeh
el H T BT YR H € ?

arell ATgeegs
During which stage of child development do children typically begin to form close friendships

and engage in co-operative play with peers ?
Early childhood

33,

T 1 O U T3 B S (e[ IS 6l Tael U ST IHeh YA STH B
ST ?

Yy sHifes sigferr SRt (REBT)
Which counselling approach is goal-oriented and focuses on identifying and achieving

solutions to specific problems ?
Rational Emotive Behaviour Therapy (REBT)

34.

Tehe YTHST ST TeIfires o1& I & ?
Hehe S SR Aehiel erdar 3T FEuRaT SIgH & |

What is the primary goal of crisis counselling ?
Offering immediate support and stabilization during a crisis.

2,

T 7 PR b Teigial B HTaeh 1 Sl bl e oo Ta 12l T e @ Siel deh b Goll i
TR B ATl S A1 ST T A FHl e 7w 2
RIEE IR

Which ethical principle in counselling involves keeping client’s information confidential
unless there is a duty to warn or protect others from harm ?
Confidentiality i

36.

m%@aq@aﬁmﬁwmw’%aﬁﬁﬁﬁmﬁaﬁsﬂwﬁﬁ%ﬁﬁm%?
Ik

What is the term for a therapeutic approach that combines elements from different counselling
theories and techniques ?
Eclectic counselling

37.

S T GO b TTE! 1 AaH G H Sk ForE, el S Segi b 7R 7
AT S H TGE ot T hi5d & ?
Teree SRt

Which counselling approach is focused on helping clients become more aware of their
thoughts, feelings and behaviours in the present moment ?
Gestalt therapy

38.

o e o o T S A o W % ord 3 e e SRR 3 W 3
el B e 3 7
Hiffoead

What is the term for the process by which children learn the meaning of words and their
relationships to objects and concepts ?
Semantics
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39. STl GRaT, TaT TR dieor S g O S <higd i 5 gRENR H sl o e
37 e H g o fore wfia & |
is dedicated to improving the health and well-being of children worldwide,
focusing on areas such as child protection, education and nutrition.
UNICEF
40. T G, SR ATTEIF M Wer <h SR SATTERTC Ugd, e ard 3w
TS S STl HITe gl
(qurier)
The organization that provides emergency relief, health services and support during
humanitarian crises, natural disasters and conflicts is
(Full Mark)
41, Sl B Terehoia <l Tgell @iaq] o2 § S S o @12l Yehe BT 8 ?
g T THA
What is the first sign of chickenpox in children that appears with the fever ?
Rashes on the trunk
42, SfCEETeEm i 3 o s safr w2
2-6 Tt
What is the incubation period for the Corynebacterium d1phther1ae ?
2-6 days
43, =fe Tl Fdkfeufi qan <t v, ot 31 Tnft <Rt @ gl i 2
TR TS T & e |
If patient is taking the drug Rifampicin, what will you inform the patient ?
It will turn the urine red.
44. g oufeh 1 Hl SMETIHA! Bl %tr?{wrfﬁﬁ M 7
ST & Soott Qe o1 T ST Sl S5 Rl W T T § |
How will you define the energy requirement of an individual ?
Level of energy intake from food that balances energy expenditure.
45. OifATSTSied % HohEYl hl HER A & ?
T {
Who is the reservoir of infection of poliomyelitis ?
Human
46. 379 U BT 1 Ush HIEeT Bl 12 € T IYATH 3IR SH Hid BC @A &, T 319 7H Hehdl & b
il o S H S T 3T < W ?
ST =TT
You see a female fasting and resting for 12 hours in a house, so which metabolism you can
assume the female is having in her body ?
Basal metabolism
47, ST =R A, S w1 SuEn fohu 3R % foe for smar e ¢

e HECAqUl T <hl TR SRRl ol SIE T o forg |

In basal metabolism, for which purpose the energy is used ?

Only to maintain essential needs of vital organs.
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48.

T T 1 Y] T % fo1u febd-fl St <hl JTeryarshar gidl & ?
FIOR o ot Rt 1 fepen ettt /s /fepan

How much energy is required for the basal metabolism in an adult ?
1keal/hour/kg of body weight

49.

Tl ohl AT IRIETh ST T o oI, 319 T H whi+ o1 FLEITeHeh Mt FMiHet il ?
Bl

Which protective food will you include in the diet for improving the immunity of the child ?
Fruits

50.

TR ISR bl HHH SIEH Torar 3 G % fo1e i & ST il ol e 4 371 dehdl & ?
FTT e T (Re=rgh)

Which suitable combinations can be advised to improve the overall protein quality of
vegetarian diet ?
Cereal pulse combination (khichdi)

51.

freaferfiaa @ vehr <6t faftra o forg wdt fereped samd -
A B
(i) @M (a) 100°C W I § @HT 9=[AT |
(ii) ISMEAT (b) =T 85°C 9L WHT Y=hrI |
(iii) @ F (g () e v i g T & forg i Seerd ol
TS # |
(iv) AT (d) T AT B 1 STERT Heh 85°C-90°C W
o | T TR |
Give the correct option for following cooking methods :
A B
(i) Simmering (a) Cooking in water at 100°C.
(ii) Boiling (b) Cooking at about 85°C.
(iii) Stewing (c) Foods are immersed in hot boiling water for
few minutes.
(iv) Blanching (d) Prolonged cooking at 85°C-90°C using small
quantity of liquid.

52.

(i)-(b), (i)-(a), (iii)-(d), (iv)-(c)
T T o AT Y HIeTEIEee i =gAad AT ferert g =fey ?
100-130 7 /fe

What should be the minimum amount of carbohydrate included in the diet of an adult ?
100-130 gm /day

53.

HIeTEESE 1 T Tl & 41 & Freeht 7 g § e 8 7
What is the simplest form of carbohydrates that have importance in human nutrition ?
Glucose

54,

STTET T T HlelaIgee 1 s9ad T I <61 g 3R Fmior & fere S =1 3w & & fore
Sl Ed % w9 1 ITIRT R S &, A 59 foren B R R S @ 7

FICE RS R R I
The optimal level of digestible carbohydrate in the diet serves to be used as an energy source to

make use of protein for growth and building of body, what is this action of body called ?
Protein sparing effect
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55.

fopwr it <hI§ 311grdi HIFeR 781 Bial @ 7
LI

Which food does not contain any dietary fibre ?
Meat

56.

e Y SIS 3T T TeHvaT o W1 i ¥ e eTs%e T Sidl 3TTd § we o fore St gid & 7
Which carbohydrates are resistant to digest in human small intestine with fermentation in the
human large intestine ?

Cellulose

57.

T T BT [of o T-ra1or o foT el @1 WisT 3Teeersh @ 7
g e

Which mineral is necessary for formation of haemoglobin in the blood ?
Iron

58.

ATIUSE BTHT < TV o6 118 il |1 F&H TIeh dicdl TR & ?
A

Which micronutrient is required for the synthesis of the thyroid hormone ?
Todine

5%,

WHO ORS 1 Ueh Sepe febe Tl e =18y, ?
1000 fir.=f. :
In how much water, one sachet of WHO ORS should be dissolved ?
1000 ml

60.

ffSra hTehtul o T FrAreriad 3 O foher FrTehi i ITTT fohart SiTer & 7
TS SRS (T

Which of the following preparations is used for the passive immunization ?
Human immunoglobulin

61.

Tore Tofeard o & Tenelt (aTNTE &5 3 oAfhe shi G T ST i i 1 gl AT & 7
ST foepie

A sudden increase in number of individuals in a specific area at a given time is called as
Population exp'losic}n.'

62.

STEEAT JTehe] H T ST EahIT Hehaleh A & 7
What does the populatioﬁ statistics include of demographic indicators ?
Sex-ratio '

63.

ST 61 IS QL eh| SETGAhTE Hebaehi o 1ohe 3iTehs 1 wriiired feha ST @ 7
EECR U IER

The fertility rates of population are included in which statistics of demographic indicators ?
Vital statistics

64.

=[TETToh! i & % TR T T2 ?
i S T[T TR o e el H wed @ |

What is true about exponential type of growth rate ?
Growth that increases rapidly with passing time.

65.

AT ST § SHEE | B whi Shdl aieia e ST e 2
wfer et el ¥ Tgm arer =afeRa < Ee

How is the population density defined in the Indian census ?
Number of persons living per square kin
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66.

i 3R feherll Shelidl 5 RoTu STTargares < =l T{e T o &9 1 uferfyd fopan man g ¢
mreflor 3 fere 2400 i 3ed &= %6 forw 2100

For how much calories per person, the required expenditure is defined as poverty line ?
2400 for rural and 2100 for urban areas

67.

T <Y St 8 s gfig w1 Hrer g ?
ot sffem &R

What is a cause of rapid growth of India’s population ?
Low standard of living

68.

g HT -t 3T 3ok Tk areli & il B dTel Werd i o el A Hehell B 7
SiqUfidiTa Ged (intergenerational conflict)

A conflict that happens between the aging parents and their adult children can be called as
Intergenerational conflict

69.

W YT T T T BRIE T8 & 7
st ¥ 99 ded ST & |

What is not the benefit of cooking the food ?
Increase the nutrients in the food.

70.

et T 5 S R ot S @I o1 Qe % TeTq 314 AIISA Y S 61 e Goil T4 & 7
T sh STE] TTS AT A1 el |

Which step you can advise to mothers to prevent loss of vitamin B during cooking of rice ?
Don’t rub and excessively wash the rice.

71.

el <hTed T 31T T2 STl <Rl &1 T ?
B A IE 3% T |

Which point will you keep in mind while cutting the fruits ?
Wash them hefore cutting.

72,

2T & i & T 9T ST & S 9 2 e e el shi Seredidl Wt et ST STerd € 7
BTEH

Which chemicals found in pulses that adversely affect the availability of some nutrients to the
body ? '
Phytates

13,

9T HO TR T e eI s g @ s o o 3w sue w8 7
T & T& IS ! e i |

What measures you can take while deep frying, to avoid the loss of fat-soluble vitamins ?
Coat the food prior to frying.

74.

Afe miferdt afeen @I foa 3 aut % Hiaw A& 51 S T8l T T R 9 W L aiss 6
feperl G (BiwT) < S =nfey ?

How many doses of tetanus toxoid should be given to the pregnant woman if she is not
immunized with TT within the last 3 years ?
2

75,

fefisht <1 b1 A 5= 5 T el fe S R q for 5w A fem S usar g ?
1 a8

The vaccine of BCG, if not given at birth, up to which age it can be given ?
1 year
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76.  feerfie < ugett g (siw) fope 30 1 i =nfey ?
(vqutter)
At which age the first dose of vitamin should be given ?
(Full Mark)
77, TSI Bl 98 SIET S U S SR et o s g S 9 Hidl 8, e
E I EERIERIE) (social pathology)
The branch of sociology that describes the relation between the disease and the social
conditions is called as
Social pathology
78. Torw wream @ wreriTes Unifers <l ST feparm <1 wehal & 7
qrTTe Hejggor
By which means the social pathology can be uncovered ?
Social surveys
79. Topea afenfya frar o6 wmiiies Qufersi o1 i gu 6 sTEmeT @ mers [t
I BT 2 7
Who defined that the task of social pathology is to study the abnormal or pathological
conditions of the society ?
Durkheim
80. Rpair = arferforem =5 srgam frwe <t aftumer g ?
16 | & 1 S I TSR 3R 18 ATt & HH 39 hl wgeh!
According to the Juvenile Justice Act, what is the definition of juvenile ?
A boy under age of 16 years and a girl under age of 18 years
81. G %! QTR T o STl o &9 5 fehe qitaTiir fopam 7
BrepTger 3T U -
Who defined the society as the web of social relationships ?
Maclver and Page :
82. forAferiiaa & & ohist @1 SRR AT TRE o6 ek hieh i I 8 7
WG TR &
Which of the following is an example of causative factor of unplanned social change ?
Flood and earthquakes
83. i T Ui MTIAeh Bl b FIOT Bl &, Sil AHTE i o fore ITerl & 7
T8 AR 3R AT
Which changes occur due to geographical factors, which are responsible of social change ?
“New townships and architecture
84. Frferfad # 8 frem g afterd  forg amfie Hret w o faa 8 7
AT
Who among the following has emphasized on economical factors for the social change ?
Marx
85. GmTfTeh R T WA R 7
e sreEr @i FEfa s S fog

What is the aim of social control ?
To control individual behaviour
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86.

frfafiad 1 @ 1 ICDS TREISHT Sl Ueh YLmaies 3h1E 2 ?
TR fosa ©g

Which of the following is one of the administrative unit of ICDS project ?
Community development block

87.

it 1 Hereiier fererfir ot g1 @ sre o forg T ST THe 31T SR 3URT R HeRd © 7
STE e B Al IIR HebT <l ST <ht |

What measures you can take while cooking to avoid the loss of water-soluble vitamins ?
Use a pressure cooker when possible.

88.

e Tfersh1 Bt fepw shrelshy % T@d T oAl Sl UTel T BT § 7
LEHCmEIGREEARINE]

Under which programme, the ‘Mukhya sevika’ has to perform her duties ?
Integrated child development scheme

89.

ST Tk O T ST S Ot STSEEiey s = avy i i g 7
w1t fererr wiesTn rfereert

Who is the overall incharge of the ICDS project at the project levei at block level 7
Child Development Project Officer

90.

irefior =7 Sredt & T Uk STTATE) T S <6 foTT SEEET i e i o @1 AHGS & ?

What are the norms for the population covering for setting up the one anganwadi in rural or

urban area ?
400-800

91.

ICDS Iio1 o enneff S & ?
6 99 T 1 3 % T, Treferet S T B et whted

Who are the beneficiaries of the ICDS scheme ?
Children under 6 years of age, pregnant and lactating women.

02,

YA GLeh g1 ICDS e fore o ferenfira <hi s off 7

In which year the ICDS scheme was evolved by Government of India ?
1975

93.

ool aRar % 3reRr i gt afcerer St o H o fore, fope So gt W I TR S 2
?
el S &

To count approximate' magnitude of the completed family size, which fertility rate is used ?
Total fertility rate

94.

SHEEAT 9fg % T qUl Tk FE ?
ST 3R e

What are important components of the population growth ?
Birth and death rate

95:

o oiER o Share Toar, wTdT 37T 39 9= 81, 38 RN eI A8 ?
Tehel TR

A family consisting of father, mother and their children only is called as
Nuclear family

96.

T~ % et % SRR i (ohd GrH1Re SR gl qa1 & 78 7
T ferame srfrfeem, 1954

By which social law, was the right of husband and wife to divorce recognized ?
Special Marriage Act, 1954
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97. =i o) wrETRes e wnerfies wreey A3t i e IS o T H e Bl @ ?

qiEmr

Which social institution serves as the basic unit of community health services ?

The family

98. el AU Hd pem T 7

Sifera ST <6 |E@/1000 STHATRT HEr-a9 SHEE

What is the correct statement for the birth rate ?

Number of live births /1000 estimated mid —year population

99.  fig forams arferforem < argem S feams 1w wd N R 7

ST Y TR, - el Bl =1 |

According to Hindu Marriage Act, what is one of the conditions for valid marriage 7

The bride and grooms should not be sapindas.

100. Friferfiad 3 & S 1 WEER T Sl s &l 8 ?
TS uiEd

From following which is not a way of acculturation ?
Social change
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